Coin Genetics
Introduction: The way genes behave can be easily simulated using a two-sided coin

→ where tails represents the recessive allele a – a 50% chance 

→ heads represents the dominant allele A  - a 50% chance

→ This results in three possible outcome:, AA, Aa, and aa

As “parents” you will both have one A (heads) and one a (tails) gene to offer your child.    

Purpose: 

Hypothesis:

Procedure:
1.   Find someone with whom to “mate”.

2. Each of you will toss your coin to make pairs of genes – a child.   Heads is A and tails is a.  The three possible combinations are AA, Aa, and aa
3. Record the results of 10 flips by placing a check in the box next to the combination flipped.

4. Add up your results to determine the total number of AA, Aa, and aa combinations in the “children” produced by your coin tosses.  Record this number in the Total column 

5. Calculate the fractions of these children who have each of the three genotypes by 

a. Placing and recording the number from the total box over 10

b. Changing this fraction to percent by multiplying the top and bottom by 10

c. Recording the top number as a percent in the Percent column

	Total
	Fraction
	Percent

	4
	4/10
	40%


Example: 

Results and Observations:

	Coin Genetics Data Table

	
	Trail 1
	Trial 2
	Trail 3
	Trial 4
	Trial 5
	Trail 6
	Trial 7
	Trial 8
	Trial 9
	Trial 10
	Total
	Fraction
	Percent

	AA
	
	
	
	
	
	
	
	
	
	
	
	
	

	Aa
	
	
	
	
	
	
	
	
	
	
	
	
	

	aa
	
	
	
	
	
	
	
	
	
	
	
	
	


Conclusion Questions:

1.  Do you accept or refute you hypothesis? Explain.

2. In this situation, both parents are Aa.  Scientists have found that this combination usually means that 25% of the children will be AA, 50% will be Aa, and 25% will be aa.  How do your results compare to this prediction?

	
	Predicted
	Actual

	AA
	25%
	

	Aa
	50%
	

	aa
	25%
	


       3. Based on your results and observations, do you think inheritance of genes is completely random, completely 

          predictable, or somewhere in the middle. Explain!

